The Efficiency of a bicycle  

The bicycle is a very efficient machine and this experiment is designed to help you  measure just how efficient.

First put the bicycle upside down on the ground as shown in the diagram and hold it firmly in a pair of clamps.
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Using a pair of Newton meters find a pair of forces on the pedal and the back wheel that just balance each other.

The force on the back wheel is the LOAD and the force on the pedal is the EFFORT.

Now turn the pedal round once and find how many times the back wheel goes round.
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CALCULATIONS
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